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3 Module-1
é 19<a; Detine: 1) Absolut,, rror i) Significant Figures.
g b. A component manufag;turer constructs certain resistors to Ql{m a%g
L 1.26kQ and claSSIﬁes hem as 1.2kQ resistors. What, to\legaﬁce should be stated‘7 If the
Ig resistance values are specified at 25°C and the resnstofs have a temperature coefficient of
ﬁ E +500ppm/°C, calculate thé axlmum resistance of one» fyhese components at 75°C.
s o { S (06 Marks)
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(06 Marks)

2 a. Calculate the value of multiplier resmtanq& on the 50V range of a dc voltmeter that uses a
500pA meter movement with an 1ntema1 re\s}s‘t’ance of 1kQ. (04 Marks)
Explain true RMS voltmeter with a maf dmg,ram (06 Marks)

c. Two different voltmeters are used\tQ »measure ‘the voltage across Ry, in the circuit of Fig. 2(c).
The meters are as follows : #
Meter 1 : S = 1kQ/V, Ry, = 0.2k, nange 10V
Meter 2 : S = 20kQ/V, R, é’“ll Sk range 10V
Calculate : N,
i) Voltage across Ry ‘w ,out any meter across it
i) Voltage across/ Ry hen the meter 1 is used
iii) Voltage across Ry'when the meter 2 is used
iv) Error in theﬂ\}}glt}méters.
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Fig. Q2(c)

Module-2

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

Important Note : 1. On completing your answers, com\Julsorily draw diagonal cross lines on the remaining blank pages.

3 1
(08 Marks)
b. Draw basic block diagram of a microprocessor based ramp type DVM and explain its
operation with waveforms. (08 Marks)
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4 a. Expl mdlgital frequency meter with the help of block diagram.

(08 Marks)

b. Explain dlgital pH meter. (08 Marks)
Module-3 U
5 a. Explain the funct Qf various blocks in CRO with suitable d: ‘I‘am. (06 Marks)
b. Explain the workmg of Tgme base generator. ) (06 Marks)
c. Discuss frequency measu“rpments with Lissajous figures. (04 Marks)
(ORY, OR ;
6 a. Explain function generator WIth\smt_ab]e dlagram ‘ (08 Marks)
b. Explain sweep generator with blo k’dlagram ( (08 Marks)
Moduie-4
7 a. Explain Q-meter with suitable circuit dlagrérn (06 Marks)
b. Explain Basic Megger Circuit. (06 Marks)
c. Discuss stroboscope. (04 Marks)

8 a. Explain the Wheatstone bridge/ zmd using Thevé"n“

hveorem, determines the amount of
deﬂectlon due to unbalance of Wheatstone Bridge.

(08 Marks)

R; = 10kQ, R, = 40kQ,
. pendence. (04 Marks)

c. (04 Marks)

9 a : ! (04 Marks)
. Derive an eipr, sion for gauge factor for Bonded Resistance wire strain, . (08 Marks)

c. Mention advam;'ages and limitation of thermistor. ' (04 Marks)
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